Bellwork  Alg2B  Tuesday, May 29, 2018
1. Find all solutions to the nearest hundredth for 6, 0 < 8 < 27.
20Co0s460 -9 =5

Find the complete solution to each. Give exact solutions when possible, otherwise, round to the
nearest hundredth. Give answers in degrees.

2. 2Co0sf — 4C0s0Sin30 = 0 3. 5Tan%9 +2Tand =3

Bellwork  Alg-2B  Tuesday, May 29, 2018
1. Find all solutions to the nearest hundredth for 8, 0 < 6 < 2.
20Co0s46 -9 =35

Find the complete solution to each. Give exact solutions when possible, otherwise, round to the
nearest hundredth. Give answers in degrees.

2. 2C0s0 —4C0s0Sin30 =0 3. 5Tan%0 +2Tand =3
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